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1. The quotient when(—v) is divided by (—9) is
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2. The quotient when3c? is divided by(c+1)is
(i) (2c—=3) (ii) (3¢c—=3) (iii) (4c—=3) (iv) (5¢c—=3) (v) (=3)

3. The quotient when(—8qg+1) is divided by (g—5) is
(i) (=7) (i) (=9) (i) (=6) (iv) (=8) (v) (-11)

4. The quotient When(9k2 +4k+6)is divided by (k+1)is

(i) (8k—=5) (i) (10k=5) (iii)) (12k=5) (iv) (9k=5) (v) (7k-5)

5. The quotient when(—4y2 —8y)is divided by (y—4)is

(i) (=5y=24) (i) (=7y=24) (i) (=3y—=24) (iv) (-y—-24) (v) (-4y-24)

6. The quotient when (2n3+4n%+9n)is divided by (n%2 —64) is

(i) (3n+4) (i) (2n+4) (i) (n+4) (iv) (4n+4) (v) (—n+4)

7. The quotient when(5g4+6g3+9g2+3g—2) is divided by(gz—g—42) is

(i) (49%2+119+230) (i) (59%2+11g+230) (i) (7g2+11g+230) (iv) (6g%2+11g+230)

(v) (3g2+119+230)

8. The quotient when(2a°+8a%+6a3—4a%2-8a-5)is divided by (a+9) is

(i) (58%-10a3+96a%—-868a+7804) (i) (3a%-10a3+96a2—-868a+7804)
(ili) (2a%-1083+962%-868a+7804) (iv) (—10a>+96a%2—-868a+7804)

(v) (a%-10a3+96a2%-868a+7804)

9. The remainder when7sis divided by 4 is

(i) (=3) (i) 3 (i) (=1) (iv) 1 (v) O

10. The remainder when(—9g2) is divided by (g—4) is

(i) (=145) (ii) (=144) (iii) (=143) (iv) (—142) (v) (—147)

11. The remainder when(—9y+9)is divided by (y—7) is
(i) (=54) (i) (=55) (iii) (=53) (iv) (=57) (v) (=51)



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

The remainder when(—812 +7r)is divided by (r—7) is

(i) (=341) (ii) (—344) (i) (=342) (iv) (—=346) (v) (—343)

The remainder when (=5 w2 + w—=5) is divided by (w+3) is

(i) (=50) (i) (=52) (i) (=56) (iv) (=54) (v) (=53)

The remainder when (4d3 —2d? +2) is divided by (d? —18d+81) is

(i) (938d—-5668) (ii) (937d-5668) (iii) (936d-5668) (iv) (934d-5668) (v) (935d-5668)

The remainder When(7n4+5n3—n2—n+3) is divided by(n2+n—30) is

(i) (=269n+6333) (ii) (—272n+6333) (iii) (=273n+6333) (iv) (=271n+6333) (v) (—275n+6333)

The remainder when (823 +5a2 —6a—3) is divided by (a2 —13a+40) is

(i) (1091a—4363) (ii) (10908—-4363) (iii)) (1092a—4363) (iv) (1088a-4363) (v) (1093a-4363)

(18X +12x%—10x—4) + (6x° +2x—4) =

(i) (=3x+1) (i) (2x+1) (iii) (3x—=1) (iv) (4x+1) (v) (3x+1)

(—6x4+23x3-13x2—7x+3) +(=2x3+7x2—2x-3) =

(i) (4x—=1) (i) (3x+1) (i) (3x=1) (iv) (=3x=1) (v) (2x—1)
(72x° +24x* 1423 +12x% +46 x—12) divided by (12x3 +14x%2 —14x—12) =

(i) (6x2+5x+1) (i) (6x2=5x+1) (i) (6x2—4x+1) (iv) (6x2—6x+1) (v) (6x2—=5x—1)

(4x3y3+24x2y4) +2xy2 =

() (2x%y+12)3) (i) (2x%y+12xy32) (i) (2X3)3+12x)2) (iv) (2x2y+12x)2) (V) (2x3y2+12xy?)

(16x* 2B +144x3 )32 +432x3 )2 3) + 4x%yz =
(i) (4x2yZ2+36x)°322+108xy72) (ii) (4x3)322+36xy22+108xy22) (i) (4x2yz2+108xyz2+36y32)

(iv) (4x3)272+36xy22+108xy2%) (v) (4x%yz2+36xy°22+108xy22)

(20x3+12x2) +4x

(i) (4x2+3x) (i) (5x%+4x) (iii) (=5x2+3x) (iv) (5x2=3x) (v) (5x2+3x)

(20x* +24x3 +4x%) + (5x% +x)

(i) 3x2+4x) (i) (4x2+5x) (iii) (4x2—4x) (iv) (=4x2+4x) (V) (4x2+4x)

(6x*—58x3+20x2 +144x) + (2x% —22 x+36)

(i) 3x2+3x) (i) (=3x%2+4x) (i) (3x2+5x) (iv) (3x2+4x) (V) (3x2—4x)
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1) (i) 2) (ii) 3) (iv) 4) (iv) 5) (v) 6) (ii)

7) (ii) 8) (iii) 9) (v) 10) (ii) 11) (i) 12) (v)
13) (v) 14) (iii) 15) (ii) 16) (i) 17) (v) 18) (iii)
19) (ii) 20) (iv) 21) (v) 22) (v) 23) (v) 24) (iv)
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